
A number times itself. 3² is the same as 3 x 3  
Term Symbol Definition

Subtract  -
Add  +

Multiply x

Divide ➗ or /

Squared x² 

Square Root √

Factorial !

Less than <

Greater than >

Equals =

To take away. 3 - 1 = 2. I started with three lollies but gave one 
away so I am left with 2 lollies.

To combine, ‘plus’ together. I had two lollies, then Mrs Stone gave me two 
more so now I have four lollies altogether.

Lots of, times by, groups of. I have four bags of lollies. Each bag has 10 
lollies. I have four groups of ten lollies. 4 x 10 is 40. 

Split or separate into parts, shared between. We have 4 lollies split 
between 2 people.4➗2 is 2. 4/2 is 2.

The opposite of square. What number times itself equals this 
number. √4 means what times itself equals 4? 2 x 2 = 4.

Multiply by decreasing positive integers (whole numbers). 3! Is 3 x 2 
x1. 5! i s 5 x 4 x 3 x 2 x 1

Less than or smaller than. 2<4, this symbol shows that 2 is smaller 
than 4.

Greater than or bigger than. 4>2, this symbol shows that 4 is bigger than 
2.

There is equality between the values or expressions on both sides. 2+2 
= 4. Both 2+2 and 4 are equal to 4 


